## -p. 232: 1-13

$\begin{array}{ll}\text { (1) } x=1 & \text { (2) } x=-5,3\end{array}$
(3) $x=-7,2$
(4) $x=\frac{11 \pm \sqrt{73}}{8}$ (5) $x=-4$
(6) $x=\frac{13 \pm \sqrt{105}}{16}$
(7) $x=2,5$
(8) $x=-5,3$
(a) $x=3,4$
(10) $x=-6,-1$
(11) $x=\frac{1}{2}$
(12) $x=3 / 2$
(13) $x=-1 / 3$

## Selutions

$$
\begin{aligned}
& \text { (1) } \frac{x-2}{3}+\frac{x+5}{3}=\frac{1}{3} \\
& \text { (2) } x \cdot \frac{x}{x}+2 \cdot \frac{x}{x}=\frac{15}{x} \\
& \text { check! } \\
& \text { (3) } x_{\frac{x}{x}}+5 \frac{x}{x}=\frac{14}{x} \\
& x-2+x+5=1 \\
& 2 x+3=1 \\
& 2 x=-2 \\
& x=1 \\
& \frac{x^{2}}{x}+\frac{2 x}{x}=\frac{15}{x} \quad-5+2=\frac{15}{-5} \\
& x^{2}+2 x=15 \\
& -3=-3 \checkmark \\
& \frac{x^{2}}{x}+\frac{5 x}{x}=\frac{14}{x} \\
& x^{2}+2 x-15=0 \\
& 3+2=\frac{15}{3} \\
& (x+5)(x-3)=0 \\
& 5=5 \mathrm{~V} \\
& x^{2}+5 x=14 \\
& x^{2}+5 x-14=0 \\
& x=-5,3 \\
& (x+7)(x-2)=0 \\
& x=-7,2 \\
& \text { (4) } \frac{1}{x} \frac{(x-3)}{(x-3)}-\frac{2}{x-3} \frac{x}{x}=4 \frac{x(x-3)}{x(x-3)} \\
& \text { (5) } x \cdot \frac{x-3}{x-3}+\frac{4 x}{x-3}=\frac{12}{x-3} \\
& \frac{x-3}{x(x-3)}-\frac{2 x}{x(x-3)}=\frac{4 x^{2}-12 x}{x(x-3)} \\
& x^{2}-3 x+4 x=12 \\
& x^{2}+x-12=0 \\
& x-3-2 x=4 x^{2}-12 x \\
& (x+4)(x-3)=0 \\
& -x-3=4 x^{2}-12 x \\
& 0=4 x^{2}-11 x+3 \\
& x=\frac{11 \pm \sqrt{121-4(12)}}{2(4)} \\
& x=\frac{11 \pm \sqrt{73}}{8} \\
& x=-4,3 \\
& \text { (6) } \frac{3}{x-1} \cdot \frac{x}{x}+\frac{2}{x} \frac{(x-1)}{(x-1)}=8 x(x-1)
\end{aligned}
$$

$-x-3=4 x^{2}-12 x$
$x=\frac{11 \pm \sqrt{121-4(12)}}{2(4)}$
extraneous
$0=8 x^{2}-13 x+2$
$x=\frac{13 \pm \sqrt{169-4(16)}}{2(8)}$
$x=\frac{13 \pm \sqrt{105}}{16}$
(7) $x \cdot \frac{x}{x}+\frac{10}{x}=7 \cdot \frac{x}{x}$
(8) $x \cdot \frac{x}{x}+2 \cdot \frac{x}{x}=\frac{15}{x}$
(9) $x \cdot \frac{x}{x}+\frac{12}{x}=7 \cdot \frac{x}{x}$

$$
x^{2}+10=7 x
$$

$$
x^{2}-7 x+10=0
$$

$$
\begin{aligned}
& x^{2}+2 x=15 \\
& x^{2}+2 x-15=0
\end{aligned}
$$

$$
x^{2}+12=7 x
$$

$$
(x-5)(x-2)=0
$$

$$
x^{2}-7 x+12=0
$$

$$
x=2,5
$$

$$
(x+5)(x-3)=0
$$

$$
x=-5,3
$$

$$
\begin{gathered}
(x-4)(x-3)=0 \\
x=3,4
\end{gathered}
$$

(10) $x \frac{x}{x}+\frac{6}{x}=-7 \frac{x}{x}$
$x^{2}+6=-7 x$
(11) $\frac{2 x(x+1)}{x(x+1)}-\frac{1}{x+1} \frac{x}{x}=\frac{1}{x(x+1)}$ $2 x^{2}+2 x-x=1$
(12) $\frac{2 x^{2}+4 x}{x^{2}+4 x}-\frac{3}{x+4} \frac{x}{x}=\frac{12}{x(x+4)}$ $2 x^{2}+8 x-3 x=12$
(10) $x \frac{x}{x}+\frac{6}{x}=-7 \frac{x}{x}$

$$
\text { (11) } \frac{2 x(x+1)}{x(x+1)}-\frac{1}{x+1} \frac{x}{x}=\frac{1}{x(x+1)}
$$

$$
\begin{gathered}
x^{2}+6=-7 x \\
x^{2}+7 x+6=0 \\
(x+6)(x+1)=0 \\
x=-6,-1
\end{gathered}
$$

(11) $\begin{aligned} & \frac{2 x(x+1)}{x(x+1)}-\frac{1}{x+1} \frac{x}{x}=\frac{1}{x(x+1)} \\ & 2 x^{2}+2 x-x=1 \\ & 2 x^{2}+x-1=0 \\ & (2 x-1)(x+1)=0 \\ & x=1 / 2, x \leftarrow \text { extraneous }\end{aligned}$

$$
2 x^{2}+2 x-x=1
$$

(12) $\frac{2 x^{2}+4 x}{x^{2}+4 x}-\frac{3}{x+4} \frac{x}{x}=\frac{12}{x(x+4)}$
$2 x^{2}+8 x-3 x=12$
$2 x^{2}+5 x=12$
$2 x^{2}+5 x-12=0$
$(2 x-3)(x+4)=0$ $x=3 / 2, x+$
(13) $\frac{3 x}{x+5} \frac{(x-2)}{(x-2)}+\frac{1}{x-2} \frac{(x+5)}{(x+5)}=\frac{7}{(x+5)(x-2)}$ $3 x^{2}-6 x+x+5=7$ $3 x^{2}-5 x-2=0$

$$
(3 x+1)(x-2)=0
$$

$$
x=-1 / 3,2 x
$$

